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Réponses

1. ÷ 10 3

2. × 10 1

3. ÷ 10 2

4. × 10 1

5. ÷ 10 1

6. × 10 1

7. ÷ 10 1

8. × 10 3

9. ÷ 10 2

10. × 10 3

11. ÷ 10 1

12. × 10 4

13. ÷ 10 4

14. × 10 4

15. ÷ 10 4

16. × 10 1

17. ÷ 10 3

18. × 10 2

19. ÷ 10 1

20. × 10 3

Résoudre chaque problème.

1) 65 800 000 ÷ 10 3 = 65 800 2) 673,9 × 10 1 = 6 739

3) 0,7759 ÷ 10 2 = 0,007759 4) 2 × 10 1 = 20

5) 2 500 ÷ 10 1 = 250 6) 622,1 × 10 1 = 6 221

7) 8,733 ÷ 10 1 = 0,8733 8) 822 × 10 3 = 822 000

9) 2 550 000 ÷ 10 2 = 25 500 10) 940,5 × 10 3 = 940 500

11) 4,499 ÷ 10 1 = 0,4499 12) 8 × 10 4 = 80 000

13) 400 000 ÷ 10 4 = 40 14) 853,6 × 10 4 = 8 536 000

15) 20,71 ÷ 10 4 = 0,002071 16) 438 × 10 1 = 4 380

17) 80 000 ÷ 10 3 = 80 18) 39,46 × 10 2 = 3 946

19) 26,72 ÷ 10 1 = 2,672 20) 53 × 10 3 = 53 000
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